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#include <stdio.h>
#include <math.h>
#include <time.h>
#include <stdlib.h>
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#define Pl (M_PI)

#define MAX (5.0)

#define MIN (-MAX)

#define DELTA (0.05)

#define HEIKIN() ( MIN+DELTA*(i)+DELTA/2.0 )
#define NUMBER ((int)( (MAX-MIN)/DELTA ))
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04 Box-MullerOOOOOOOOOODO

#define SHIKOU (100000)

double get_random(void) ;
void calc_y(double*,double*) ;

int main(void)
{
FILE *fptrl, *fptr2 ;
double y1, y2 ;
int i, shikou ;

int Y1[NUMBER] = {0}, Y2[NUMBER] = {0} ;

for( shikou=0; shikou<SHIKOU; shikou++){
calc_y( &yl, &y2) ;
i=0;
do{

if(C yl >= MIN+DELTA* && yl < MIN+DELTA*(i+1) ) Y1[i++ ;
else if( y2 >= MIN+DELTA* && y2 < MIN+DELTA*(i+1) ) Y2[i]++ ;

i+
Ywhile( i<NUMBER ) ;

}
fptrl = fopen("Y1_n.dat", "w") ;
fptr2 = fopen("Y2_n.dat", "w") ;

for( i=0; i<NUMBER; i++){
fprintf( fptrl, "%lf  %IfAn", HEIKIN(), ((double)Y1[i])/(SHIKOU*DELTA)) ;
fprintf( fptr2, "%lf  %IfAn", HEIKIN(), ((double)Y2[i])/(SHIKOU*DELTA)) ;

}
fclose( fptrl) ;
fclose( fptr2) ;

return 0 ;

}
double get_random()
static int flag=0;
if(flag==0){
srand(time(NULL)) ;
flag=1 ;

}
return 1.0*rand()/(RAND_MAX+1.) -0.0 ;

void calc_y(double *y1, double *y2)
{
double x1, x2 ;

et_random() ;

x1
X2 et_random() ;

=9
=9

*yl = sqrt( -2*log(x1l) ) * cos(2*PI*x2) ;
*y2 = sqrt( -2*log(x1) ) * sin(2*PI*x2) ;
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Parseval formula
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1 if(ijk) is an even permutation of 1,2,3.
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0 otherwise.
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